K C KT6 / KT7 SERIES INDUSTRIAL AND MOBILE APPLICATION

INDEX
KT6EDCS Ordering code & Technical d)ata— ————————— — — — — — — — — 86
Dimensions & Operating characteristics—— — — — — — — — — — — — — - 87
KT67DCB Ordering code & Technical d)ata— —————————— — — — — — — — — 88
Dimensions & Operating characteristics—— — — — — — — — — — — — — - 89
KT7DBB Ordering code & Technical d)ata— ————————— — — — — — — — — 90
Dimensions & Operating characteristics—— — — — — — — — — — — — — - 91
KT7QDCB Ordering code & Technical d)ata— —————————————— — — — - 92
Dimensions & Operating characteristics— — — — — — — — — — — — — — - 93
KT7QDCC Ordering code & Technical d)ata— ———————— — — — — — — — — — 94
Dimensions & Operating characteristics— — — — — — — — — — — — — — - 95
Drive Train Pump
KT6CR Ordering code & Technical data— —— — —— — — — — — — — — — — — 96
Dimensions & Operating characteristics— — — — — — — — — — — — — — - 97
KT6DR Ordering code & Technicaldata— — — — — — — — — — — — — — — — — - 98
Dimensions & Operating characteristics— — — — — — — — — — — — — — - 99
KT6ER Ordering code & Technical data — — — — — — — — — — — — — — — — — - 100
Dimensions & Operating characteristics— — — — — — — — — — — — — — - 101
KT6DRS Ordering code & Technicaldata — — — — — — — — — — — — — — — — — - 102
Dimensions & Operating characteristics— — — — — — — — — — — — — — - 103
KT6DRSS Ordering code & Technicaldata— — — —— —— — — — — — — — — — — — 104
Dimensions & Operating characteristics— — — — — — — — — — — — — — - 105
KT6 * R Adapter & Coupling Selection ————————— — — — — — — — — 106
KT6,7 Series Adapter Diagrams — — — — — — — — — — — — — — — — — — — — —~ 107 - 108
Vane Motor
Description, Maximum Speed, pressure Ratings KVM4* Series — — — 109 - 111
Performance curves - oil viscosity 24 cst (45°) (KVM4C) — — — — — — 112-114
Performance curves - oil viscosity 24 cst (45°) (KVM4D) — — — — — - 115-117
Performance curves - oil viscosity 24 cst (45°) (KVM4E) — — — — — — — 118
Internal leakage/Permissimle radial/Axial loads(KVM4C,D,E) — — — — — 119
Maximum speed, pressure rating KVM4* series — — — — — — — — — — — 120
Motor selection KVM4* — — — — — — — — — — — — — — — — 121
KVMA4C Ordering code & Technicaldata— — — — — — — — — — — — — — — — 122
Dimensions & Operating characteristics— — — — — — — — — — — — — — 123
KVM4D Ordering code & Technical data — — — — — — — — — — — — — — — — — — 124
Dimensions & Operating characteristics— — — — — — — — — — — — — — - 125
KVM4E Ordering code & Technicaldata— — — — — — — — — — — — — — — — — - 126
Dimensions & Operating characteristics— — — — — — — — — — — — — — - 127




K CL MINIMUM & MAXIMUM SPEED, PRESSURE RATINGS -
KT6 SERIES INDUSTRIAL AND MOBILE APPLICATION

Theoretical | Minimum Maximum Speed Maximum Pressure
. . |Displacement Speed HF-0 , HF-1| HF-3 , HF-4 HF-0 , HF-2 HF-1, HF-4 , HF-5 HF-3
Size Series Vi HF-2 HF-5 Int. Cont. Int. Cont. Int. Cont.
m//rev RPM RPM RPM bar bar bar bar bar bar
005 17.2
006 21.3
008 26.4
010 | 34.1 600 | 2800 | 1800 | 275 240 | 210 175 175 140
C 012 37.1
014 46.0
017 58.3
020 63.8
022 70.3
025 79.3
028 88.8 2500
031 100.0 210 | 160 160
014 | 46.0
017 58.2
020 66.0
024 79.5

028 89.7 600 2500 | 1800 | 240 210 210 175 175 175
D | 031 98.3

035 ] 111.0
038 | 120.3
042 | 136.0
045 | 145.0 2200
050 | 158.0 210 160 160
042 | 1323
045 | 1424
050 | 158.5
E 052 | 164.8 600 2200 | 1800 240 210 210 175 175 140
062 | 196.7
066 | 213.3
072 | 227.1
085 ] 269.0 210 175 175 175 160 140
HF-0 , HF-2 = Antiwear Petroeum Base HF-3 = Water in oil Emulsions
HF-1 = Non Antiwear Petroecum Base HF-4 = Water Glycols

HF-5 = Synthetic Fluids

For further imformation or if performance characteristics outlined above do not meet your own
particular requirements,please consult your local KCL Hydraulics distributor

ATTENTION AT STARING

At first start operation of the pump shaft at the lowest speed and at the
lowesrt pressure to obtain priming. When a pressure relief valve is used at
the outlet it should be backed off to minimize returm pressure.

When possible an air bleed off should be provided in the circuit to facilitate
purging of system air.

Never operate pump shaft at top speed and pressure without checking for
completion of pump priming, and the fluid has no aeration disaerated.




KCL

GENERAL CHARACTERISTICS

Mounting Standard |p; Speed  |Max.P . Weight SAE 4-bolt
. isplacement P ax.Pressure
Series (SAE J477¢ (fm3 o) : : O oo™ J518-ISO/DIS 6162-1
1SO/3019-1) max | min pst bar Tbs Kg suction pressure
e SAE-B 1721000 | 2800 | SO0 | 4000 | 275 | 366 | 166 112" "
Pl SAE-C 476-1905 | 2500 | S00 | 3500 | 240 | 609 | 27.62 2 11/4"
e SAE-C 13232608 | 2200 | SO0 | 3500 | 240 | 954 | 433 3 112"
KT6GC R.17-102 172-100.0 | 2800 | 400 | 4000 | 275 | 39.7 | 18.0 1172 1" SAE
KT7B/ | 1SO 30192 / SAE J744 \ ; ;
D Rl 57-500 | 3600 | 600 | 4640 | 320 | 511 | 232 1172 1" or 3/4
KT7QC1 SAE-B PI=17.2- 100.0 ; . ;
KT70C aaL-b 13 ooe| 3000 | 600 | 4350 | 300 | 507 | 23 1172 1" or 3/
KT7D/  |1SO 30192 / SAE 1744 . "
Kibs  |osasiw ! enpe’| 439-1579 | 3000 | 600 | 4350 | 300 | 573 | 261 2 1" 1/4
KT7DSW SAE-C 47.6-190.5 | 2500 | 600 | 3500 | 240 | 704 | 321 | 212" 11/4"
KT7DXW SAE-C 4391579 | 3000 | 600 | 4350 | 300 | 70.4 | 32.1 212" 11/4"
KT6CR SAE-B 1721000 | 2800 | SO0 | 4000 | 275 | 425 | 193 112" "
KT6DR SAE-C 476-1905 | 2500 | SO0 | 3500 | 240 | 703 | 319 2" 114"
KT6ER SAE-C 13232608 | 2200 | SO0 | 3500 | 240 | 1032 | 4638 3" 112"
[ P2
KT6CC/ PI=17.2- 100.0 600 . \ .
KTecem SAE-B v 000 ] 2800 | SO0 | 4000 | 275 | 584 | 265 |212%0r3 1 1" or 3/
KT6CCZ SAE - B a1y 000 ] 2800 | 600 | 4000 | 275 | 584 | 265 [21270r3"| 1t | 1"or3d"
KT6GCC R.17-102 iy lo0e] 2800 | 400 | 4000 | 275 | 60 | 272 |212%0r3"| 1 1" or 3/4"
KT6DC/ P1=47.6-190.5 600 | 3500 | 240 . P I
KT6DCM SAE-C P2=17.2-1000 | 2% | 400 | 4000 | o275 | #49 | 383 } I 1" | 1Mor3d
KT6DDS SAE-C a6 o0 | 2500 | 600 | 3500 | 240 | 1234 | 560 4 114|114
KT6EC P1=132.3 - 269.8 600 | 3500 | 240 ; ; ;
KT6ECM SAE-C P2=172-100.0 | 2% | 400 | 4000 | o7s | 1212 | 55 | 312" | 1R !
KTGED/ PI1=132.3 - 269.8 600 | 3500 | 240 ; ; ;
KT6EDM SAE-C P2=476-1905 | 220 | 400 | 3500 | 240 | M00 | 633 4 R B
KT6EE/ | 150-3019-2 PI=132.3 - 269.8 ] ] ;
KICEES | 220 marive [ SAE-E | )7 1323 720081 2200 | 600 | 3500 | 240 | 2094 | 950 4 112 1 1/4
KT67BB SAE-B a7 00 | 2800 | 600 | 4000 | 275 | 584 | 265 |212%0r3"| 1" 1" or 3/4"
KT67CB SAR P2 10001 2500 | 600 | 4350 | 300 | 584 | 265 | 2 12 " 34"
KT67DB SAR PIAT0- 10051 2500 | 600 | 4350 | 300 | 849 | 385 3 114 3/4"
KT67EB R P22 208 2200 | 600 | 4350 | 300 | 1212 | s | 32t |1 34"
KT7BB/ | 1SO3019-2 / SAE 1744 | P1=5.7-50.0 v | e ]
Rrons | 1og e [ e R | DT I | 2200 | 600 | ded0 | 320 | 755 | 34 | 212" |1Mor34 34
KT7QCCI SAE-B PI=17.2- 100.0 ; ; o
K1706C AN 13 o0e| 3000 | 600 | a3s0 | 300 | 755 | 34 212 1 1" or 3/
KT7ED/ | 1SO 30192 / SAE 1744 |P1=132.2 - 268.7 3500 | 240 ; 1o U
KT7EDS | 125A2HW/ SAEE | P2=43.9-157.9| 2200 | 690 | 3630 | 250 | 1433 | 633 4
KT7EE/ | 1SO 3019-2 / SAE J744 |P1=132.2 - 268.7 ; 112 1 14"
KT7EES | 250B4HW/ SAEE |P2-1322-268.7| 2200 | 600 | 3500 | 240 | 209.4 | 952 4
PL__ P2 P3
P1=47.6 - 190.5 600 3500 240 n
KTé6DCC SAE-C P2=17.2-100.0 | 2500 | 400 | 2000 | 275 | 1457 | 66.1 4" 11/4" 1" 13/4?f
P3=17.2 - 100.0
P1=47.6- 190.5
KT6DDCS SAE - C P2=47.6 - 190.5 | 2500 283 iggg 5‘7‘2 1532 | 69.5 4" 114" | 114m| 1% or
P3=17.2 - 100.0 34
150 30192 PI=1323-269.8 so0 | 3500 [ 240 o
KT6EDC 250 B4 HW P2=47.6-1905 | 2200 | o | 3500 | 240 | 239.1 | 108.5 4 112" | 1A | e
P3-17.2 - 100.0 3500 | 275
P1=47.6-190.5
KT67DCB S‘;ﬁéi‘:“‘ P2=17.2-100.0 | 2500 | 600 | 4350 | 300 | 1457 | 66.1 4r V2 I U I VT
P3=5.7 - 50.0
P1=43.9- 157.9 w0 | 240 o
KT7DBB SAEC P2=5.7-50.0 | 2500 | 600 fé 01 o0 | 1457 | 66 4 IRVZUNIT. s
P3=5.7 - 50.0




KCL KT6C Ordering Code

KT6C-*014-1 R 00 -

B1
® @0 @60 ® O®

QI =

D Series (5 Direction of rotation
. . (view on shaft end)
@ Y- Metric port connection , R=clockwise
B C Om.lt for UNC L=counter-clockwise
am ring Porting combination
Volumetric displacement (cm*/rev) ©® 00=stan§ard
005=17.2 017=58.3 (D Design letter
006=21.3 020=63.8 Seal cl
008=26.4 022=70.3 carciass .
010=34.1 025=79 3 1 = S1 (for mineral oil)
012=37.1 028=88.8 4 = S4 (for fire resistant fluids)
014=46.0 031=100.0

5 =S5 (for mineral oil and fire

resistant fluids)

@ Type of shaft

1= keyed (SAE B) (® Modifications
2= keyed (no SAE) INTERNAL LEAKAGE (TYPICAL)
3= Splined (SAE B) 4
—— 10 ¢S
4= Splined (SAE BB) i — e
= 18
01 02 & 1s
- P
P-S éﬁ b
FO EO § 9 T
— L
< //
5 -
_ . _ =
S=Suction port P=Pressure port 3 ==
0

0 35 70 105 140100190, 0 oa0 275

Pressure p [bar]
Do not operate pump more than5 seconds at
any speed or viscosity if internal leakage is

more than 50 % of theoretical flow.
HYDROMECHANICAL POWER LOSS

TYPICAL
s ( CAL) PERMISSIBLE RADIAL LOAD
n = 2800 rpm L ==
= 4| n= 1500 rpm[ 24 cst B F
n = 1000 rpm 1200 Fa
E Shaft keyed N° 1
& 3 o = 1000
§ ) //// . . 800
: I i 2600
) J | | — o
R — — e = 400
—
A~ ] 200
0 600 10001200 1500 18002000 2500 2800

0 35 70 105 140160175190210 240 275

Speed n [rpm]
Pressure p [bar]

Maximum permissible axial load Fa =800 N




KT6C Dimensional Drawing

221 SPOTFACER

Shaft code 3

+0
KEY 6.35 -0.05

M8 x 16 DEEP

Shaft Code 1
(KEYED SAE B)

+0
KEY 4.762 20.05

233
161.6 714
‘ 823 _ 38.1] 97
1 U
3 lﬁ 38.1
= |
a 10 v
——
S I
j 23] &
i - 41z
MOUNTING TORQUE 117ft.Ibs a8 d
(159 Nm) 8
12 1o 23y e 3/8" 16UNC x 0.75 deep-4
: (MI0x 19) 58.2
37
5.8 26.2
45.5 58.9 === ==
245 B +0 EES
‘ 3‘1.8 KEY 6.35 o5 % Gﬂ[‘gea r_31_8>/ $§
- 1 .
I ﬂj Ly el -
= - = SR : o 5 2
e 1o/ e 8% 25 5| ®
LJ L < oo r N o
| A
S 2381 [@254- SN
Shaft code 4 Shaft code 5 :

Shaft Code 2
(KEYED NO SAE)

SAE B splined shaft SAE BB splined shaft P
Class 1-J498 b 16/32  Class 1-J498 16/32 Shaft torque limits(m//rev x bar)
d.p. -13 teeth 30° d.p. -15 teeth 30° Pump Shaft | Vp x p max
pressure angle flat root  pressure angle flat 1 16500
ide fit i
side fi root side fit 5 14300
KTo6C
3 20600
4 20600
KT6C OPERATING CHARACTERISTICS - TYPICAL [24 cSt]
Seri Volumetric Speed Flow qve [ //min |]=1500rpm Input power P [KW]=1500rpm P Max| Max
eries Displacement Vp|| n [R.P.M] | p=0bar |p=140bar | p=240bar| p=7 bar |p=140bar |p =240 bar Kg/cnf r.p.m
005 17.2m//rev 1500 25.8 20.8 17.3 1.4 7.5 12.2
006 21.3m/l/rev 1500 31.9 26.9 23.4 1.5 8.9 14.7
008 26.4m/!/rev 1500 39.6 34.6 31.1 1.6 10.7 17.7
010 34.1m/l/rev 1500 51.1 46.1 42.6 1.7 134 22.3
012 37.1m//rev 1500 55.6 50.6 47.1 1.7 14.4 24.1
014 46.0m//rev 1500 69.0 64.0 60.5 1.9 17.6 29.5 275 | 2800
017 58.3m//rev 1500 87.4 82.4 78.9 2.1 21.9 36.9
020 63.8m//rev 1500 95.7 90.7 87.2 2.2 23.8 40.2
022 70.3m//rev 1500 105.4 100.4 96.9 2.3 26.1 44.1
025 1) 79.3m/l/rev 1500 118.9 113.9 1104 2.5 29.2 49.5
028 1) 88.8m//rev 1500 133.2 128.2 125.82) 2.8 32.7 48.52) 2500
210
0311) | 100.0m//rev 1500 150.0 145.0 142.62) 2.8 36.5 54.42)
1) 025-028-031=2500 R.P.M.max 2) 028 - 031 =210 bar max. int. Min Speed : 600 rpm




KCL KT6CM Ordering Code

KT6CM-*014-1 R 00 -

B *
O 20 ®6 6 OO

(D Series (5 Direction of rotation
(view on shaft end)

(2) Y- Metric port connection , R=clockwise

@ On}it for UNC L=counter-clockwise
Cam ring s (6) Porting combination
Volumetric displacement (cnr’/rev) 00=standard
005=17.2 017=58.3 .
006=21.3 020=63.8 @ Design letter
008=26.4 022=70.3 Seal class
010=34.1 025=79.3 1 = S1 (for mineral oil)
012=37.1 028=88.8 _ . .
014=46.0 031=100.0 4 = S4 (for fire resistant fluids)
5 =S5 (for mineral oil and fire
resistant fluids
4 Type of shaft )
1= keyed (SAE B) (9 Modifications
2=keyed (no SAE)
. INTERNAL LEAKAGE (TYPICAL)
3= Splined (SAE B) 2%
4= Splined (SAE BB) 2 T ;‘3‘ Ccsstt

Internal leakage Qs [ ¢ /min ]
I~}

S=Suction port P=Pressure port

190

0 35 70 105 140160190, " ou0 275

Pressure p [bar]
Do not operate pump more than 5 seconds at
any speed or viscosity if internal leakage is

more than 50 % of theoretical flow.
HYDROMECHANICAL POWER LOSS

TYPICAL
s ( CAL) PERMISSIBLE RADIAL LOAD
n = 2800 rpm L=
— 4| n = 1500 rpm[ 24 cst 1400 [r
= n = 1000 rpm 1200 Fa
E Shaft keyed N° 1
2 3 p— Z 1000
§ i //// ) . 800
— e - 2 600
S A ——
15} | | | +—T Q
% I — - — = 400
—
= | 200
0 600 10001200 1500 18002000 2500 2800
0 35 70 105 140160175190210 240 275 Speed n [rpm]

P b
ressure p. [bar] Maximum permissible axial load Fa =800 N




KT6CM Dimensional Drawing

233
161.6 714 +0
823 38.1| 9.7 KEY 6.35 -0.05
[ 1] L M8 x 16 DEEP
B [ [
9 l 38.1
© \
o 1 P
\ =
S
23] & Shaft Code 1
A - § X (KEYED SAE B)
2-914.3 HOLE MOUNTING TORQUE 117ft.Ibs 8 &
@21 SPOTFACER (159 Nm) 8
172"-13UNC x 0.8 deep-4 holes 3 gn_1 6UNC x 0.75 deep-4 holes
(M12X22.4) (MIOX 19) 582 +0
i KEY 4.762 s
40.7 35.8
455 58.9 ==
o pras 1] 318 |KEY 6.35.0.05 ) 1 31 -
_1sx = A | .
E 45° ‘% — o «~ L ©
= = ) i TN ‘ 2 T
e e/ ® sl 2w
— w)
- - - ME I
ale / SR Shaft Code 2
a O 238.1 2254 S KE?ED N‘(’) SeAE
Shaft code 3 Shaft code 4 Shaft code 5 ( )
SAE B splined shaft SAE BB splined shaft Shaft torque limits(m//rev x bar)
Class 1-J498 b 16/32  Class 1-J498 16/32 B v
d.p. -13 teeth 30° d.p. -15 teeth 30° ump | Shaft | Vpxpmax
pressure angle flat root pressure angle flat 1 16500
side fit root side fit 2 14300
KT6CM
3 20600
KT6CM OPERATING CHARACTERISTICS - TYPICAL [24 cSt] 4 21821
Seri Volumetric Speed Flow qve [ //min ]=1500 rpm Input power P [KW]=1500 rpm P Max| Max
eries Displacement Vp|| n [R.P.M] | p=0bar |p=140bar | p=240bar| p=7bar |p =140 bar |p =240 bar Kg/cm2 r.p.m
005 17.2m/{/rev 1500 25.8 20.3 15.8 1.4 7.5 12.2
006 21.3m/l/rev 1500 31.9 26.5 22.0 1.5 8.9 14.7
008 26.4m/l/rev 1500 39.6 34.1 29.6 1.6 10.7 17.7
010 34.1ml/rev 1500 51.1 45.7 41.2 1.7 13.4 22.3
012 37.1m/l/rev 1500 55.6 50.2 457 1.7 144 24.1
014 46.0m/(/rev 1500 69.0 63.5 59.0 1.9 17.6 29.5 275 | 2800
017 58.3m//rev 1500 87.4 82.0 71.5 2.1 21.9 36.9
020 63.8m/(/rev 1500 95.7 90.2 85.7 22 23.8 40.2
022 70.3m//rev 1500 105.4 100.0 95.5 2.3 26.1 44.1
0251) | 79.3ml/rev 1500 118.9 113.5 109.0 25 29.2 49.5
0281) | 88.8mlirev 1500 133.2 127.7 124.52) 2.8 32.7 48.52) 2500
210
0311) | 100.0mf/rev 1500 150.0 144.5 141.32) 2.8 36.5 54.42)
1) 025-028-031=2500 R.P.M.max 2) 028 - 031 =210 bar max. int. Min Speed : 600 rpm




KCL

KT6D Ordering Code

(D Series

@2 Y - Metric port connection (not for code Q)

Omit for UNC

(3 Cam ring

Volumetric displacement (cm’/rev)

014=47.6
017=58.2
020=66.0
024=79.5
028=89.7
031=98.3

(@ Type of shaft
| = keyed (SAE C)

2 =keyed (no SAE)
3 = splined (SAE C)
4 = splined (no SAE)

S=Suction port

HYDROMECHANICAL POWER LOSS

035=111.0
038=120.3
042=136.0
045=145.7

050=158.0
061=190.5

P=Pressure port

(TYPICAL)

6

n = 2400 rpm
------ n = 1500 rpm[ 24 cst |

3 n= 1000 rpm
z 4 — 1 T
=)
Q‘ﬁ 3
v
wn
S 2 I —— ===
P e, ] | T
5 [
4 [—
o 1
[

0 0 35 70 140 175 210 240

105 160 190

Pressure p [bar]

1 R
@®

Load F [N]

0-B1*
© O®©
(5 Direct. of rotation

(view on shaft end)
R=clockwise
L=counter-clockwise

(6) Porting combination
00=Standard

(7) Design letter
Seal class

1 = S1 (for mineral oil)
4 = 84 (for fire resistant fluids)
5 =S5 (for mineral oil and fire

resistant fluids)

(9 Modifications

INTERNAL LEAKAGE (TYPICAL)
32

: ——10 cst
é 23 —24 cst
~
~ 24
W
o 20
(&)
2 16
,qu -
Lo P
= 1
£ 38
@]
£, /
0
240
0 35 70 105 140 175 0210

Pressure p [bar]

PERMISSIBLE RADIAL LOAD

1800
1600 |—|F—

1400 Fa

1200

Shaft keyed N° 1

1000

800

600

400
200

500 10001200 1500 18002000 2500

Speed n [rpm]
Maximum permissible axial load Fa= 1200 N



Kangchi
打字機文字

Kangchi
打字機文字

Kangchi
打字機文字

Kangchi
打字機文字

Kangchi
橢圓形

Kangchi
橢圓形


KCL KT6D Dimensional Drawing

212.5 +0
181 KEY7.94 .05
%05 184.9 83.6
e 874 _ 38.1| 127 M10 x 20 DEEP
| — ‘ 493
© _gf ‘ ‘
g wy
1 S
g L - 23
‘li\ ‘ \L._.ﬂ g
' > —
3l 5| °
1= | &
2-@17.5 HOLE /l\;[OUNTlNG TORQUE 138ft.Ibs ol v
(187 Nm) S Shaft Code 1
(Keyed SAE C)
7/16"-14UNC x 0.88deep-4
1/2"-13UNC x 0.94deep-4 (M12x22.3) 732
(MI12 x23.9) -
| 1157 "
<55.2= ‘42.9‘ 30.2 | KEY7.94 ;05

38.1
2.3 x45°
— |

e FETLIN Y

77.7
I
%
o\
58.7
+0
0.05

of ® J
> =
| [ vy o~
E | o
Shaft code 4 ala
Shaft code 3 no SAE splined shaft 2508 231 @
SAE C splined shaft P
Class 1 - J498 b Class 1-J498 b Shaft Code 2
1224 dp. -14 teeth ~ 12/24 dp. -14 teeth (Heved o SAE)
o
30° pressure angle 30° pressure angle S s bar
. 1 aft torque limits (m//rev x bar
Flat root side fit. Flat root side fit. d
Pump Shaft |Vp x p max
1 43283
2 34590
KT6D
3 61200
4 61200

OPERATING CHARACTERISTICS - TYPICAL [24 cSt]

Seri Volumetric Speed Flow qve [ ¢//min [=1500 rpm Input power P [KW]=1500 rpm | P Ma}vx2 Max
cries Displacement Vp| n [R.P.M]| p=0bar |p=140 bar|p =240 bar| p=7 bar |p =140 bar|p =240 bar|Kg/cm | r.p.m
014 47.6m//rev 1500 71.4 62.1 55.9 2.3 18.5 30.6
017 58.2m/l/rev 1500 87.3 78.0 71.8 2.5 22.2 37.0
020 66.0m//rev 1500 99.0 89.7 83.5 2.8 24.9 41.7
024 79.5m/l/rev 1500 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7ml/rev 1500 134.5 125.2 119.0 3.2 33.2 55.9

240 2500
031 98.3m//rev 1500 147.5 138.1 131.9 33 36.2 61.0
035 111.0m//rev 1500 166.5 157.2 151.0 3.5 40.7 68.7
038 120.3m//rev 1500 180.4 171.1 164.9 3.7 439 74.3

0421) | 136.0m//rev 1500 204.0 194.7 188.5 4.0 49.4 83.7

0451) | 145.7m//rev 1500 218.5 209.2 203.0 4.1 52.8 89.5 2200

0501) | 158.0m//rev 1500 237.0 227.7 224.02) 44 57.0 85.02) 210

061 1) | 190.5m//rev 1500 285.7 278.0 3) D 4.6 60.6 3) D 120

1) B42 - B45-B50- 61 =2200 RP.M.max  2) B50 =210 bar max. int. ~ 3) 061 = 120 bar max. int. Min Speed : 600 rpm




KCL

KT6DS Ordering Code

KT6DS - 045
@ @
(D Series
2 Cam ring
Volumetric displacement (cm*/rev)
014=47.6 035=111.0
017=58.2 038=120.3
020=66.0 042=136.0
024=79.5 045=145.7
028=89.7 050=158.0
031=98.3 061=190.5

(3 Type of shaft
| = keyed (SAE C)

2 =keyed (no SAE)
3 = splined (SAE C)
4 = splined (no SAE)

00
P
)
O
\L@/
S
S=Suction port P=Pressure port
HYDROMECHANICAL POWER LOSS
(TYPICAL)
6
n = 2400 rpm
------ n = 1500 rpm[ 24 cst ]
3 n = 1000 rpm
S i
=)
L o3
PO . S pa ://,//__-_
QB) | t—
o 1
=
0 0 35 70 140 175 210 240
105 160 190

Pressure p [bar]

0

®

Load F [N]

(=]
-~

@1 *

1
D®

(4 Direction of rotation
(view on shaft end)

R=clockwise
L=counter-clockwise

(5 Porting combination
00=Standard

(60 Design letter
(7) Seal class

1 = S1 (for mineral oil)
4 = S4 (for fire resistant fluids)
5 =S5 (for mineral oil and fire

resistant fluids)
Modifications

INTERNAL LEAKAGE (TYPICAL)
32

= 2 ——10 cst
\E — 24 cst
~ 24
w2
o 20
(&)
2 16 ]
= |-
L 12 P
= L
£ 8
Q
g, |
RS

0

0 35 70 105 140 210 240

1 60
Pressure p [bar]

PERMISSIBLE RADIAL LOAD

1800

1600

1]

1400 Fa
1200

Shaft keyed N°1
1000

800
600

400
200

12 1 21 2,
500 1000 00 1500 1800 000 500

Speed n [rpm]
Maximum permissible axial load Fa= 1200 N




KT6DS Dimensional Drawing

213
181 184.9 83.6
o114.5 874 _ 381 12.7 0
1 ! KEY 7.94 -0.05
[l ] S - M10 x 20 DEEP
T J N g 493 .
o %3
g — = 8
Q
o
T4 §
B 23xa| T S
n w)
ld3x4se G
Shaft code 1
(Keyed SAE C)
7/16" 14UNC x 0.88 DEEP
1/2" 13UNC x 0.94 DEEP  (M12 x 22.3) 3.2
M12x23.9) - 15.7
2.9 30271
<332 777 ‘ 4 3yl KEY7.94 10
38.1 48 ‘ Mo
o |23xase 2.3 x 45° . ‘
= = A
23x457 g <
| =
— =~
] - . = o
@M 2318 B &
Shaft code 3 Shaft code 4 Shaft code 2
SAE C splined shaft NO SAE splined shaft (Keyed no SAE)
Class 1 - J498 b Class 1 - J498 b 12/24 Shaft torque limits (m/#/rev x bar)
12/24 dp. -14 teeth d.p. -14 teeth 30 Pump | Shaft |Vpx pmax
30° pressure angle pressure angle Flat root
Flat root side fit. side fit. 1 43283
2 4
KT6DS 34590
3 61200
4 61200

OPERATING CHARACTERISTICS - TYPICAL [24 cSt]

Seri Volumetric Speed Flow qve [ //min |=1500 rpm Input power P [KW]=1500 rpm |P Max | Max
€T€S Ipisplacement Vp| n [R.P.M] | p=0bar |p = 140 bar|p = 240 bar| p =7 bar |p = 140 bar|p = 240 bar | Kg/cnf | r.p.m
014 | 47.6mlirev 1500 71.4 62.1 55.9 2.3 18.5 30.6
017 | 582ml/rev 1500 87.3 78.0 71.8 25 222 37.0
020 66.0m//rev 1500 99.0 89.7 83.5 2.8 249 41.7
024 | 79.5m//rev 1500 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7m//rev 1500 134.5 125.2 119.0 32 33.2 55.9

240 2500
031 98.3m/(/rev 1500 147.5 138.1 131.9 33 36.2 61.0
035 | 111.0mf/rev 1500 166.5 157.2 151.0 3.5 40.7 68.7
038 | 120.3m//rev 1500 180.4 171.1 164.9 3.7 43.9 74.3

0421) | 136.0m//rev 1500 204.0 194.7 188.5 4.0 49.4 83.7

045 1) | 145.7ml/rev 1500 218.5 209.2 203.0 4.1 52.8 89.5 2200

050 1) | 158.0m//rev 1500 237.0 227.7 224.02) 4.4 57.0 85.02) 210

061 1) | 190.5m//rev 1500 285.7 2780 3) | —— 4.6 60.6 3) — 120

1) B42 - B45 - B50 - 61 = 2200 R.P.M.max

2) B50 =210 bar max. int.

3) 061 = 120 bar max. int.

Min Speed : 600 rpm 23




KCL

KT6E Ordering Code

KT6E * -066-3
O @ 0@
(1) Series
(2) Y - Metric port connection,
Omit for UNC
(3) Cam ring
Volumetric displacement (cn’/rev)
042=132.3 062=196.7
045=142.4 066=213.3
050=158.5 072=227.1
052=164.8 085=269.8
057=180.7
(4) Type of shaft
1 =keyed (SAE CC)
2 =keyed (no SAE)
3 = splined (SAE C)
4 = splined (SAE CC)
(5) Direction of rotation
(view on shaft end)
R=clockwise
L=counter-clockwise
00 01 02 03
P P-S P P
A PN A A
© (@ O8)s s@O
\‘Tsﬁ/

S=Suction port

Power loss Ps [KW]

P=Pressure port

HYDROMECHANICAL POWER LOSS
(TYPICAL)

n=2200 rpm
P n=1500 rpm [ 24 cst ]
n= 1000 rpm

0 35 70 105 140 175

160 190

210 240

Pressure p [bar]

R 00-AT1F*
® ©® 20
(6) Porting combination
00=standard
(7) Design letter
Seal class
1=S1 (for mineral oil)
4=S4 (for fire resistant fluids)
5=S5 (for mineral oil and fire
resistant fluids)
(9 Modifications
INTERNAL LEAKAGE (TYPICAL)
36
3p| —— 10cst
—_ —— 24 cst
£ 28
£
S 24
& 20
(0] -
216
4
5
)
=
£ 38
[}
g
4
0
0 35 70 105 140 1750210 240

Pressure p [bar]

PERMISSIBLE RADIAL LOAD

L = =
3600 |—I ¥
Fa
3200
Shaft keyed N° 1
'2' 2800
[ 2400
g 2000
= 1600 /
1200
800
400
600 1000 1200 1500 1800 2000 2200

Speed n [rpm]

Maximum permissible axial load Fa=2000 N




KT6E Dimensional Drawing

)

§

-

7.
N

/-

| y
[ 2-217.5 HOLE

7=
OO
N\

2253

90.9

+0
KEY 9.52 -0.05

1100 _,

52.

3 12.7

98.6

M10x20 DEEP

187.5

f

—
]

|—]

MOUNTING TORQUE 138 ft.lbs

-0.05

+0
42.36 Max|

2 38.1

(187 Nm) Shaft Code 1
(Keyed SAE CC )
1/2"-13UNC x 0.92deep
5/8"-11UNC x 0.94deep (M12 x 23.4)
(M16 x24) s 61.9
559 622 61.9 357 =27 KEY 7.94 605
- ] s B s N 8
38.1 31.5 . 5 @ @ X; M Iy
= | e RITE IR T
_ S kj %& >ﬁ B
/| © -2 = S
L E@ / 1) ] +m°. E
1 = N
@l a
275 @37.1 — [S]
Shaft code 3 Shaft code 4 Shaft Code 2
SAE C Splined shaft SAE CC Splined shaft a oce shaft torque limits(m//rev x bar)
class 1 - J498b 12/24 class 1 - J498b 1224 (Keyed no SAE) b Shaf Voxp
dp. -14 teeth  30° dp. -17 teeth 30° ump aft p x P max.
pressure angle. Flat root pressure angle. Flat root 1 54555
side fit. side fit. 34590
KT6E 2
3 61200
4 61200

KT6E OPERATING CHARACTERISTICS - TYPICAL [24 cSt]

Seri Volumetric Speed Flow qve [ //min ] Input power P [KW)] P Max Max
eries Displacement Vp| n [R.P.M] | p=0 bar [p =140 bar|p =240 bar| p =7 bar |p =140 bar|p =240 bar Kg/cm2 r.p.m
042 132.3m//rev 1500 198.5 188.5 181.3 5.2 49.4 82.6
045 142.4m//rev 1500 213.6 203.6 196.5 5.4 52.9 88.7
050 158.5m//rev 1500 237.7 227.7 220.6 5.7 58.5 98.3
052 164.8m//rev 1500 2472 237.2 230.1 5.8 60.8 102.1 240 2200
057 180.7m//rev 1500 271.1 261.1 254.0 6.1 66.4 106.9
062 196.7m//rev 1500 295.0 285.0 2779 6.4 71.9 121.3
066 213.3m/l/rev 1500 319.9 309.9 302.8 6.7 77.7 131.2
072 227.1m/l/rev 1500 340.6 330.6 323.5 6.9 82.6 139.5
085" 269.8meirev 1500 40472 3977 | —— 73 2| 6532 —— | 90 2000

1) 085 = 2000 rpm max. 2) 085 =75 bar cont. 085=90bar max. int Min Speed : 600 rpm




KCL

KT6GC Ordering Code

Internal leakage Qs [ ¢ /min ]

Power loss Ps [KW]

KT6GC - B22 -

(1) Series

(2) Cam ring
Volumetric displacement (cm*/rev)
B05=17.2 B17=58.3
B06=21.3 B20=63.8
B08=26.4 B22=70.3
B10=34.1 B25=79.3
B12=37.1 B28=88.8
B14=46.0 B31=100.0

(3) Type of shaft

6-splined (DIN 5462)

(4) Direction of rotation(view on shaft end)

R=clockwise
L=counter-clockwise

INTERNAL LEAKAGE (TYPICAL)
24

=z

18

15

12

. =

6 — ]
L

=

®0 35 70 103 140 100,5190,, 0 240 275

Pressure p [bar]

Do not operate pump more than 5 seconds at
any speed or viscosity if internal leakage is
more than 50 % of theoretical flow.

HYDROMECHANICAL POWER LOSS
(TYPICAL)

n = 2800 rpm
4 |——— n=1500rpm [ 24 cst ]
n= 1000 rpm

0 35 70 105 140, 175

1600 190
Pressure p [bar]

210 240 275

(5) Porting combination

00-standard

00
-~
A
©
S

S=Suction port

P=Pressure port

(6) Design letter

(7) Seal class
1-S1

Mounting W/connection variables
00-Flange 1" BSPP
01-Flange 1" SAE 4 bolts(UNC)
MI1-Flange 1" SAE 4 bolts(METRIC)

(9) Modifications

PERMISSIBLE RADIAL LOAD
9000

8500 L ==
8000 I_IL
7500 “Shaft keyed N° 1

Z 7000

o, 6500

2 6000

(=]

= 5500 ~_

5000

600 1000 1200 1500 18002000 2500 2800
Speed n [rpm]

Life time 3000 hours when 70% of the time at 500 N
and 30% at max. load




KT6GC Dimensional Drawing

215.5 55.0
82.6 92.0 3785 T30x30
L 150 193
+0
_ | 25.96 .01
&l
=% < ~—
5 N g
2 Ne) (e il [7e)
i NRE e | 25 53
- 1 ) o
\ on [e3e)
S / | \ \ s N
E — 19.0
214.0 / MOUNTING TORQUE 117ft.Ibs 36.8 282 01
117.6 (159Nm)
DRAIN HOLE BETWEEN TWO SHAF
SEALES Shaft code 6
(DIN 5462) B8 x 32 x 36
1/2-13 UNC x 0.9 DEEP-4 HOLES
MI12x22.4
CODE 00 (MI2x224) 3¢ 16 UNC x 0.75 DEEP-4 HOLES
35.8 26.2 / (M10 x 19)
05 =
o & —
| ° @E =
\
Sl . @7\ s ‘
~ \& ‘ / I
N
goL e =
25.4BSPP 2138.1 / @25.4
OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST)
Pr , Volumetric Flow q & n =1500 rpm Input power p & n P Max | Max
If;iltl € | Series Displacement Vp (¢/min) =1500rpm (KW) Kg/em? | r.p.m
cm’/rev P=0 bar P=140 bar | P=240 bar P=7bar | P=140 bar | P=240 bar
BO05 17.2 25.8 20.3 15.8 1.4 7.5 12.2
B06 21.3 31.9 26.5 22.0 1.5 8.9 14.7
B08 26.4 39.6 34.1 29.6 1.6 10.7 17.7
B10 34.1 51.1 45.7 41.2 1.7 13.4 22.3
B12 37.1 55.6 50.2 45.7 1.7 14.4 24.1 275 2800
Bl14 46.0 69.0 63.5 59.0 1.9 17.6 29.5
KT6GC B17 58.3 87.4 82.0 717.5 2.1 21.9 36.9
B20 63.8 95.7 90.2 85.7 2.2 23.8 40.2
B22 70.3 105.4 100.0 95.5 2.3 26.1 44.1
B25 D 79.3 118.9 113.5 109.0 2.5 29.2 49.5
B28 » 88.8 133.2 127.7 124.5 2 2.8 32.7 48.5 2 2500
B31 1 100.0 150.0 144.5 14135 | 28 36.5 544 | 210
1) B25-B28-B31=2500rpmmax. 2) B28-B31=210 bar max. int. Min Speed : 400 rpm

--Not to use because internal leakage greater than 50% theoretical flow.




KCL

KT7QC1/ KT7QC2 Ordering Code

Internal leakage Qs [ ¢ /min ]

Power loss Ps [KW]

KT7QC [1]-022 -1R00-B100 *

o @ 6
(D Series

(2) Mounting
1 - SAE B
2 - SAE C

(3 Cam ring for P1

Volumetric displacement (cm¥rev)

005=17.2 017=58.3

006 =21.3 020 =163.8

008 =26.4 022=170.3

010=34.1 025=79.3

012=37.1 028 = 88.8

014 =46.0 031=100.0
(4) Type of shaft

1 =keyed (SAE B)

2 =keyed (non SAE)
3 = Splined (SAE B)
4 = Splined (SAE BB)

INTERNAL LEAKAGE (TYPICAL)

30
— — 10 cSt J/
LU — 7
24 -
21
18
15 1
s —
192 - //
/ L
6 1
v |
3 7
00 35 70 105 140 175 210240 275 300
160190

Pressure p [bar]

Do not operate pump more than 5 seconds at
any speed or viscosity if internal leakage is
more than 50 % of theoretical flow.

HYDROMECHANICAL POWER LOSS
(TYPICAL)

wn

n = 2200 rpm
4 | — -n=1500 rpm(24 cst ),
n = 1000 rpm
3
L —
/—///
P ———
g [ I
//—/_—______,_,_
0
0 35 70 105 140 175 210 240 275

160 190
Pressure p [bar]

OOIORGOIC)

(5 Direction of rotation
(view on shaft end)
R = clockwise

L = counter - clockwise

(6) Porting combination
00 = standard

S=Suction port

(7) Design letter
Seal class
1 = S1 (for mineral oil)
4 =S4 (for fire resistant fluids)
5 =S5 (for mineral oil and fire
resistant fluids)

P=Pressure port

(9) Mounting W/connection variables

UNC METRIC

00 [ 01 [ MO [ MmiI

T I Y71 I R Y7 T
S 112"

PERMISSIBLE RADIAL LOAD

1400 | 4 ﬁ?

1200 Fa
Shaft keyed N° 1

1000

800

600

Load F [N]

400 —
200

600 10001200 1500 18002000
Speed n [rpm]

2500 2800

Maximum permissible axial load Fa =800 N




KT7QC1/ KT7QC2 Ordering Code

@ D2

76.2

150

\

MOUNTING TORQUE 138ft.Ibs

(180Nm)

168.4 71.6
82.3 38.1] 9.7
+0
,é == 6.35 KEY 6.35 05
38.1 M8 x 16 DEEP
7 ‘4—»
f—— 5
| )
= 2| X
15x45° 93| <
| SRS Sl I | p—
=n I a x
ol N
13 x45° 5

Shaft Code 1

(KEYED SAE B)

582 Key 4.762 oo
31.7
‘ /
= |
™ J
a4 =z
Shaft code 3 Shaft code 4 ) 1sx45— TF >
SAE B splined shaft SAE BB splined shaft < & A
Class 1-J498 b 16/32 dp.  Class 1-J498 b 16/32 dp. — 2.0x45° Q s
-13 teeth 30° pressure -15 teeth 30° pressure 3/8-16UNC x 0.75 DEEP-4 HOLES Q
. . - X 0. =
angle flat root side fit angle flat root side fit (M10x19.0)
) g Shaft Code 2
1/2(1\231;)5;2()0.88 DEEP-4HOLES (Keyed non SAE )
KT7QC1 KT7QC2 )
Mounting S AF? B S AEQ C Shaft torque limits (m//rev x bar)
oDI 101.6/101.55 127 /126.94 coD 2P L B Pump Shaft | Vp x p max.P1+P2
@1‘312 1174435 2117255 01/MI | 1905 | 476 22 1 16500
: - 00/ MO 254 52.4 26.2
A2 146 181.0 KT70C |2 14300
A3 73 90.5 3 20600
A4 127 157 4 21820
KT7QC OPERATING CHARACTERISTICS - TYPICAL [24 cSt] (input power p (kw) for one cartridge only)
Pressure Seri Volumetric Flow qve [ //min [1500rpm Input power P [KW]1500rpm P Max| Max
port | S¢S | pisplacement Vp| P = 0 bar [P = 140 bar[P = 240 bar[P = 300 bar| P =7 bar_|P = 140 bar]P = 240 bar|P = 300 bar| Kg/ent| r.p.m
005 17.2m/l/rev 25.8 21.5 17.7 13.7 1.4 7.5 12.2 14.9
006 21.3m/l/rev 31.9 26.5 22.0 18.0 1.5 8.9 14.7 18.0
008 26.4m//rev 39.6 34.1 29.6 25.6 1.6 10.7 17.7 21.8
010 34.1m/l/rev 51.1 45.7 41.2 37.2 1.7 13.4 22.3 27.5
300 | 2800
P1 012 37.1m/(/rev 55.6 50.2 45.7 41.7 1.7 144 24.1 29.8
014 46.0m/!/rev 69.0 63.5 59.0 55.0 1.9 17.6 29.5 36.5
017 58.3m/l/rev 87.4 82.0 77.5 73.5 2.1 21.9 36.9 45.7
020 63.8m//rev 95.7 90.2 85.7 81.7 2.2 23.8 40.2 49.8
022 70.3m/l/rev 105.4 100.0 95.5 91.5 2.3 26.1 44.1 50.3 275
025 1 79.3m/l/rev 118.9 113.5 109.0 — 2.5 29.2 49.5 — 240
028 1y 88.8ml/rev 133.2 127.7 1245 5| — 2.8 32.7 485 o — 210 2500
031 0 100.0m//rev 150.0 144.5 141.3 o 2.8 36.5 54.4 2) —

1) 025 - 028 - 031 = 2500 rpm. max

2) 028 - 031 =210 bar max. int.

Min Speed : 600 rpm




KCL

KT6CC Ordering Code

Internal leakage Qs [ ¢ /min |

Power loss Ps [KW]

KT6CC-[W/-022-0
@

@
®

(D Series
(2) Use for Severe duty shaft only
(3 Camringfor"P1" & " P2 "

Volumetric displacement (cm¥rev)

005=17.2 017=158.3
006=21.3 020=63.8
008 =26.4 022=70.3
010=34.1 025=79.3
012=37.1 028 = 88.8
014=46.0 031 =100.0

(4) Type of shaft
1 =keyed (no SAE)
3 = Splind (SAE BB)
5= Splind (SAE B)
W version
2 =keyed (SAE BB)
S = splined (DIN 5462)

INTERNAL LEAKAGE (TYPICAL)

24
-------- 10 cSt
21
—— 24 cSt
18
15
12 p1p2l”
. P |
6 P 1= sy
5 e | —
/’,r’/
o L
0 35

70 105 140 175 210 240 275
160 190

Pressure p [bar]

HYDROMECHANICALPOWER LOSS
(TYPICAL)
5

n = 2800 rpm
4 |- n = 1500 rpm][ 24 cst
n= 1000 rpm
3
PLE2 |
2 = | -
P1-P2|_ |77 |
I ey PiP2| T |
L I —
0
0 35 70 105 140 175 210 240 275
160 190

Pressure p [bar]
Total hydromechanical power loss is the sum
of each section at its operating conditions.

1R00-C100
OOIORGOC)

(5) Direction of rotation
(view on shaft end)
R = clockwise
L = counter - clockwise

Porting combination
@ 00 = standard

(7) Design letter

Seal class

1 = S1 (for mineral oil)

4 = S4 (for fire resistant fluids)

5 =S5 (for mineral oil and fire
resistant fluids)

(9 Mounting W/connection variables

P1=1",S=3" |P1=1",S=21/2"2)

P2 1" 34"y 1" 3/4" 1
Code Un(,t 00 01 10 11
Metric | OM WO 1M W1

1) for 46 m//rev. max.

2) for 126 m//rev. max.

The large cartridge must be always
mounted in the front.

Do not operate pump more than 5 seconds at
any speed or viscosity if internal leakage is
more than 50 % of theoretical flow.

Total leakage is the sum of each section loss at
its operating conditions.

PERMISSIBLE RADIAL LOAD

L -
1400 l:lz
1200 &
Shaft keyed N° 1

Load F [N]
[o)
S

600 1000 1200 1500 1800 2000 2500 2800
Speed n [rpm]
Maximum permissible axial load Fa =800 N




KT6CC Dimensional Drawing

aC(1" 3/4" S(3” or 2 1/2”)
174.5 Lo 54 0254 m2 982
146 \ B G
1 | +0
73 g KEY 4.762 o
31.7
N
2 <
g
g
+ §
2-14.3 HOLES (\l
E -4 HOLES/ s
M10x19) (Keyed on SAE )
265.6
45.5 40.7 922 88.2 101.6 | 38.1 =14
| A ‘ . ‘ ' KEY 6 35+0
24.5 24.5 55 o 9.7 -35-0.05
\ [ ; T \
7% % ‘ — $§ - :r. | M8x16 DEEP
i T < Sy IS\ [
= A ¢ 8.1 /
o o~ ‘<—> - 8
Shaft code S 2 — 3
Shaft code 3 Shaft code 5 DIN 3462 ZIEl =
SAE BB Splined shaft ~ SAE B Splined shaft B8x32x36 P ez 5
class 1 -J498 b 16/32 class 1 -J498 b 16/32 516\f0003 o = f - |
dp. -15 teeth 30° dp. -13 teeth 30° ' - Q&
pressure angle. Flat root pressure angle. Flat root . MOUNTING TORQUE 45 ft.Ibs Shaft Code 2
side fit. side fit. 231.89.00 (61 Nm) (Keyed SAE BB )
Alternate Port
S=3" S=2 12"
F 106.4 88.9 Shaft torque limits(m//rev x bar)
G 61.9 50.8
oH 76.2 63.5 Pump Shaft | Vp x p max.P1+P2|
Code]| 00 01 oM WO 10 11 1M W1 1 14300
A | 524 476 | 524 | 416 524 | 476 | 524 47.6 B 21420
B | 262 | 222 | 262 | 222 | 262 | 222 | 262 | 222 KT6CC 3 5670
oC 254 19.0 25.4 19.0 25.4 19.0 254 19.0
D | 747 76.2 74.7 76.2 74.7 76.2 74.7 76.2 5 20600
E | 3/8"-16UNCx19 deep M10x19 deep 3/8"-16UNCx19 deep M10x19 deep
K |5/8"-11UNCx28.4 deep M16x28.4 deep 1/2"-13UNCx23.9 deep M12x24.0 deep
KT6CC OPERATING CHARACTERISTICS - TYPICAL [24 ¢St]  (input power p (kw) for one cartridge only)
Pressure Seri Volumetric Flow qve [ //min ]1500rpm Input power P [KW]1500rpm P Max Max
port €rieS | Displacement Vp| P = 0 bar [P = 140 bar|P = 240 bar| P =7 bar |P = 140 bar| P = 240 bar| Kg/eni | r.p.m
005 17.2m//rev 25.8 20.3 15.8 1.4 7.5 12.2
006 21.3m/l/rev 31.9 26.5 22.0 1.5 8.9 14.7
008 26.4m/l/rev 39.6 34.1 29.6 1.6 10.7 17.7
010 34.1m//rev 51.1 45.7 41.2 1.7 13.4 22.3
P1 & P2 275 2800
012 37.1m//rev 55.6 50.2 45.7 1.7 14.4 24.1
014 46.0m/!/rev 69.0 63.5 59.0 1.9 17.6 29.5
017 58.3m//rev 87.4 82.0 77.5 2.1 21.9 36.9
020 63.8m//rev 95.7 90.2 85.7 2.2 23.8 40.2
022 70.3m//rev 105.4 100.0 95.5 2.3 26.1 44.1
025 ) 79.3m/l/rev 118.9 113.5 109.0 2.5 29.2 49.5
028 )| 88.8mlirev | 1332 127.7 1245 5| 28 327 485 5 5y | 2500
031 ) 100.0m//rev 150.0 144.5 141.3 2) 2.8 36.5 54.4 2)

1) 025 - 028 - 031 = 2500 rpm. max

2) 028 - 031 =210 bar max. int.

Min Speed : 600 rpm




KCL

KT6CCZ

Ordering Code

Internal leakage Qs [ ¢ /min ]

Power loss Ps [KW]

KT6CCZ * - B22 - B0S -
Ce
©

(D) Series - SAE B 2 Bolts
Mounting flange J744c

(2) One letter can be added to specify
special parts in series

(3 Cam ring for"P1" & " P2 "

Volumetric displacement (cm¥rev)

B05=17.2 B17=58.3
B06=21.3 B20=63.8
B08 =26.4 B22=70.3
B10=134.1 B25=79.3
B12=37.1 B28 = 88.8
B14=46.0 B31=100.0
(4) Type of shaft
X =keyed
W = keyed
V =keyed

S = Splined (DIN 5462)

INTERNAL LEAKAGE (TYPICAL)
24

¥ e 10 ¢St
—— 24 ¢St V%
18
15
12
. Pl—P% | -~
. /| P
Pz Pl-y
3 /
0
0 35 70 105

140 175 210 240 275
160 190

Pressure p [bar]

HYDROMECHANICAL POWER LOSS
(TYPICAL)
5

n = 2800 rpm

4 | — -n=1500 rpm[ 24 cst
n= 1000 rpm
3 I—
PLP2
2 T | i
Pi-p2| |+ —|7 | |
L e T
[ e —
0
0 35 70 105 140 175 210 240 275
160 190

Pressure p [bar]
Total hydromechanical power loss is the sum
of each section at its operating conditions.

XR00-A100
®® O®O

(5) Direction of rotation
(view on shaft end)
R = clockwise
L = counter - clockwise

Porting combination
@ 00 = standard

(7) Design letter

Seal class
1 = S1 (for mineral oil)
4 = S4 (for fire resistant fluids)
5 =S5 (for mineral oil and fire
resistant fluids)

(9 Mounting W/connection variables

P1=1",S=3" |[P1=1",S=2 12" 2)

P2 1" 3/4"n 1" 3/4" 1
Code Ung 00 01 10 11
Metric | OM WO 1M W1

1) for 46 m/¢/rev. max.

2) for 126 m//rev. max.

The large cartridge must be always
mounted in the front.

Do not operate pump more than 5 seconds at
any speed or viscosity if internal leakage is
more than 50 % of theoretical flow.

Total leakage is the sum of each section loss at
its operating conditions.

NOISE LEVEL (TYPICAL)

80
E
207 _
~— -
% o\l o — r~ /
5370 -
50 -
oA —
'§ 65

60

10 50 100 140 175 210 240

Pressure in bar
Double pump noise level is given with each
section discharging at the pressure noted on the
curve.




KT6CCZ Dimensional Drawing

174.5

146

@C(1" or 3/4")

gH(3" or 2 1/2n) @25.4

@
% -
D

+0
KEY 10 _9.015

73 —
M12x24 DEEP
o= : T ]
K S o
~ < [\
) U \NZp, ‘ fasy
2-914.3 HOLES —H
1% E -4 HOLES/ /
) 3/8-16 UNC x 0.75 DEEP  Shaft Code V
MOUNTING TORQUE 117 ft.lbs K -4 HOLES (MI10x 19)
(159 Nm)
265.6
88.2 101.6 }38.1 64.1
+0
55.5 +0 KEY 6.35-0.05
KEY 7.94 -0.05 92.2 9.7
‘38.1 MS8x16 DEEP 55 - Siﬁ\:)oos T _ | M8x16 DEEP
N . — < L1
%77 | T tg \ o * E 49.2 /
| 1T ﬂ" +0 "’ o 8
Ve W (=3
s g § A @31.89_0.02 } ﬂ:"ﬂ, +@"
< a N ? § 5 =
ol s) Q| “ = Q
g Shaft code S - &9 —
DIN 5462 7 S |
Shaft code W - s o
B8x32x36 MOUNTING TORQUE 45 ft.Ibs
(61 Nm) Shaft Code X
Alternate Port
S=3" S=2 12"
F 106.4 88.9
G 61.9 50.8 Shaft torque limits (m//rev x bar)
oH 76.2 63.5
Code| 00 01 OM WO 10 11 M Wi Pump | Shaft |Vpxp max.PI1+P2
A | 524 47.6 524 47.6 524 47.6 524 476 X 25400
B | 262 222 26.2 222 26.2 222 26.2 222 KT6CCZ| v 32670
gC| 254 19.0 25.4 19.0 25.4 19.0 25.4 19.0
D | 747 | 762 | 747 | 762 | 747 | 762 | 747 | 762 w 32670
E | 3/8"-16UNCx19 deep M10x19 deep 3/8"-16UNCx19 deep M10x19 deep
K |5/8"-11UNCx28.4 deep M16x28.4 deep 1/2"-13UNCx23.9 deep M12x24.0 deep

KT6CCZ OPERATING CHARACTERISTICS - TYPICAL [24 ¢St] (input power p (kw) for one cartridge only)

Pressure Series | . Volumetric Flow qve [ //min [1500rpm Input power P [KW]1500rpm P Max2 Max
port Displacement Vp| P =0 bar |P =140 bar|P =240 bar| P =7 bar |P =140 bar|P =240 bar | Kg/cni | r.p.m
BOS 17.2m/l/rev 25.8 20.3 15.8 1.4 7.5 12.2
B06 | 21.3m/{/rev 31.9 26.5 22.0 1.5 8.9 14.7
B08 26.4m//rev 39.6 34.1 29.6 1.6 10.7 17.7
B10 | 34.1m//rev 51.1 45.7 41.2 1.7 13.4 223
PL& P2 B12 37.1ml/rev 55.6 50.2 45.7 1.7 14.4 24.1 273 2800
B14 | 46.0m//rev 69.0 63.5 59.0 1.9 17.6 29.5
B17 58.3m//rev 87.4 82.0 71.5 2.1 21.9 36.9
B20 | 63.8m//rev 95.7 90.2 85.7 22 23.8 40.2
B22 70.3m//rev 105.4 100.0 95.5 2.3 26.1 44.1
B251) 79.3m/l/rev 118.9 113.5 109.0 2.5 29.2 49.5
13281) 88.8m/l/rev 133.2 127.7 1245 5 2.8 32.7 485 5 210 2500
B3ll) 100.0m//rev 150.0 144.5 1413 5 2.8 36.5 544

1) B25 - B28 - B31 = 2500 rpm. max

2) B28 - B31 =210 bar max. int.

Min Speed : 600 rpm




	p4.pdf
	p6
	p11
	p12
	p13
	p14
	p15
	p28
	p29
	p32
	p33
	p42
	p43
	p44
	p45



